Display command

Executing
Parameter RS |R/W|DB7| DB6 | DB5 | DB4 | DB3 | DB2 | DB1|DBO Note time
fosc=250kh
z
Clear 0 0 0 0 0 0 0 0 0 1 1.64ms
Display
Cursorhome | O 0 0 0 0 0 0 0 1 * 1.64ms
Entry Mode 0 0 0 0 0 0 0 1 1D | S DB1=1:Increment
Set DB1=0:Decrement
DBO0=1:The display is 40u s
shifted
DB0=0:The display is
not shifted
Display 0 0 0 0 0 0 1 D C B DB2=1:Display on
on/off DB2=0: Display off
DB1=1:Cursor on 40pas
DB1=0: Cursor off
DBO0=1:Brinking on
DBO0=0: Brinking off
Cursor/ 0 0 0 0 0 1 SIC | RIL | * * DB3=1:Shifts  display
Display Shift one 40pas
character
DB2=1:Right shift
DB2=0:Left shift
System Set 0 0 0 0 1 DL N F * * DB4=1:8 bits
DB4=0:4 bits
DB3=1:2 lines display
(1/16 duty) 40pas
DB3=0:1 line display
DB2=1:5 x 10 dots ,
1/11 duty
DB2=1:5 <7 dots , 1/8
duty
Set CG RAM 0 0 0 1 CG RAM address The address length that 40pas
Address corresponds to can be set is 64
cursor address address
Set DD RAM 0 0 1 DD RAM address The address length that 40pas
Address can be set is 80
address
Read Busy 0 1 BF | Address counter used DB7=1:Busy (instruction Opis
Flag/Address for both DD&CG RAM not accepted)
Counter address DB7=0:Ready(for
instruction)
Write Data 1 0 Write data 46as
Read Data 1 1 Read data 46as

DD RAM Address:

1 2 3 45 6 7 8 9 10 11 12 13 14 15 16
Address for line 1 o0 Jo1 Jo2Jo3[o4aJos5JosJo7JosJoo] AT BI[CDJETF
Address for line 2 40 [41 [42[ 434445464748 (49 anl4Bac [4aD[4E] 4F




